3. SEŠTEVAMO IN ODŠTEVAMO ŠTEVILA DO 1000

7. Sestavi račun, da dobiš število 1000.


1000

8. Izračunaj in poišči pravilni rezultat.

računi                                                                                          rezultati

245 + 95                                                                                       378

336 + 63                                                                                        486

472 + 89                                                                                        561

172 + 314                                                                                      517

181 + 197                                                                                      340

448 + 69                                                                                        399

921 + 71                                                                                        439

330 + 109                                                                                      992 

 

9. Izračunaj!

540+30=
560-30=
180+__ = 240
570 - 60 =___

720+90=
740-80=
765+  80 = ___
978 -  90=

345+50=
675-20=
564+___=604
650 -___=580

782+20=
845-70=
70 + 453 =___
876 - 70 =___

176+60=
732-70=
___+  60=810
___- 70 =325

